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ANGLEŠČINA



TRAFFIC AND TRANSPORT
Task 1 – Reading comprehension

Study the vocabulary using a dictionary to help you first, then read the text and fill the gaps with parts of sentences. There is one extra sentence.
a) Match the words with their definitions.
I. fare

II. commuter

III. annual

IV. union

V. to undermine

VI. haemorrhage
VII. to underpin

VIII. to endure

IX. genuinely

X. hassle 

1. to experience and deal with something that is painful or unpleasant, especially without complaining ___
2. a person who travels into a city to work each day, usually from quite far away ___
3. to make something, especially somebody’s confidence or authority, gradually weaker or less effective ___
4. a situation that is annoying because it involves doing something difficult or complicated that needs a lot of effort ___
5. the money that you pay to travel by bus, plane, taxi, etc. ___
6. happening or done once every year ___
7. to support or form the basis of an argument, a claim, etc. ___
8. a serious loss of people, money from a country, a group or an organization ___
9. an organization of workers, usually in a particular industry, that exists to protect their interests, improve conditions of work, etc. ___
10.  in a sincere and honest way that can be trusted ___
b) Match the phrases to their meanings.
I. retail price index

II. to turn a blind eye

III. laughing all the way to the bank

IV. consumer watchdog

V. get value for money

1. is a non-profit, progressive organization which advocates for taxpayer and consumer interests, with a focus on insurance, health care, political reform, privacy and energy ___
2. measures changes in the price level of market basket of consumer goods and services purchased by households ___
3. to be earning a lot of money easily ___
4.  a fair return or equivalent in goods, services, or money for something exchanged ___
5. pretend not to notice ___
c) Read the text and fill the gaps with parts of sentences (A–I). There is one extra sentence.

TRAIN SEASON TICKETS TO RISE BY UP TO £100                                         (Adapted from The Times, by Andrew Ellson, Consumer Affairs Correspondent; August 15, 2018.) 
Rail fares are set to jump by 3.2 per cent next year, meaning that some commuters will see the annual cost of getting to work increase by more than £100.

About 40 per cent of fares will rise by the regulated amount in January, including season tickets on most commuter routes, some off-peak returns and anytime tickets around major cities.

The Department for Transport uses the July retail price index (RPI) measure of inflation, announced by the Office for National Statistics today to determine the cap on annual increases. The consumer price index (CPI), the Bank of England’s preferred measure of inflation, rose by only 2.5 per cent. The cost of a Brighton-to-London season ticket will rise to £4,332 under RPI; ___.

Jeremy Corbyn described the increase in regulated fares as “an insult to everyone who has suffered from the chaos on Britain’s railways”. Chris Grayling, the transport secretary, said that he wanted to see “lower levels of increases for passengers in future”. He added, however, that if a lower measure of inflation was used to calculate ticket price increases then ___, including annual pay rises, an idea that has been rejected by the unions.

The Rail, Maritime and Transport (RMT) union accused Mr Grayling of trying to cap pay rises and blame workers for high fares. A spokesman said: “We will not tolerate any effort to undermine our members’ pay and conditions. ___ Network Rail, London Underground and the train operators above RPI inflation.”

Mick Whelan, leader of the train drivers’ union Aslef, said: “The trouble is that the privatised train companies aren’t interested in delivering a proper public service for passengers, ___. The transport secretary is turning a blind eye to the problems while the companies are laughing all the way to the bank.

“Passengers are paying the penalty fare for privatisation, a flawed and failing model that everyone can see doesn’t work. Hundreds of millions of pounds are haemorrhaging from our industry every year – money desperately needed to improve our infrastructure, to continue with electrification and ___.”

Mr Grayling said that he was very disappointed at the reaction from the unions. He told BBC Radio 4’s Today programme that his suggestion was “entirely fair”.

Protests were held outside railway stations in advance of the latest increases but the Rail Delivery Group, ___, Network Rail, defended the increase. Paul Plummer, chief executive of the group, said: “Fares are underpinning a once-in-a-generation investment plan to improve the railway and politicians effectively determine that season ticket prices should change in line ___.”

Peter Vicary-Smith, chief executive of the consumer watchdog Which?, said: “These price rises are yet more bad news for passengers, many of whom have endured a summer of chaos, including cancellations, delays, overcrowding and poor service from train companies. ___, train companies must improve the reliability and safety of their services and pay out compensation quickly and hassle-free where it is owed.”

A   which represents train operators and the infrastructure owner
B   We are doing our very best to keep
C   The conductors are not that much overpaid as people think

D   only in delivering a private profit for their shareholders
E   if CPI had been used it would be £39 less, at £4,293
F   For passengers to genuinely feel they are getting value for money and a rail system that works for them
G   reduce passenger fares, which are among the highest in the world
H   it would also have to be used for costs
I   with other day-to-day costs to help fund this
Task 2 – Speaking 

Talk about the topic below with your teacher. Take a few minutes to think about it first.

· Which means of transport have you used so far? 
· How do you propose we reduce the number of traffic jams?
· How can traffic accidents be prevented?

· Do you think there should be more rules for drivers in your country?
Task 3 – Listening comprehension

Listen to the video clip
https://www.youtube.com/watch?v=ix0QJmRq-nc
and tick the statements true (T) or false (F).

	
	
	T
	F

	1
	People are very familiar with bicycling laws.
	
	

	2
	Automobiles kill the most children in the USA.
	
	

	3
	Most roads are wide enough for a car and a bicycle.
	
	

	4
	Electric bicycles are allowed in bike lanes if their motors cannot make them go faster than 20 mph.
	
	

	5
	There are not many reasons for bikes to leave bike lanes.
	
	

	6
	A class I bikeway is a common thing in the USA.
	
	

	7
	You may ride your bike on some highways.
	
	

	8
	The speaker encourages riding on the sidewalks.
	
	

	9
	You can have one earphone for listening to music while riding.
	
	


Task 4 – Writing

Write an article on your towns drive for a cleaner environment by carpooling. Write 150–180 words.
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